100000 -
0 80000 -
60000 -
100 -EE8 40000 -
20000 -
200 '8 0 h&
0 100 200 0 100 200
300 30000 -
30000 -
400 . g

0 100 200 300 400 500 600

0 100 200

NGRD |

100

200

o

100 200 30

(=}

|

200000 -
150000 - 100
100000 - 200
50000 -
04 0.25 0.50 0.75

300

1.0
400

0.8 -

! ? 100
100 200 300 400 500 600 0.6 1

o

LR E]

0.4 - 200

0.2 - - 0 100 200 300
: B
0.0 2. 7> @navg 7.5
=== (n_avg
=== Gn_avg
=== (Gn_avg
Gn_avg
s On auo 0
150000
100
100000
200
50000 -
- Ry 0 100 200 300
=== Gn_pct
—— Gn_pot L —
0 L= Gn_pet 0.25 0.50 0.75
=== Gn_pct
=== (Gn_pct
1.0 — = Gn_pct 0
==e== (Gn_pct
Gn_pct
0.8 q —o— Gn_pct
— G 100
|- === Gn_avg
0 100 200 300 400 500 600 0.6 1 —— 6n ave
== (n_avg
[ ==t Gn-avg -
0.4 |01 200
=== Gn_avg
0.24 Gn_avg 0 100 200 300
0.00 0.05 0.10 0.15 0.20 0.25 0.30 gnfavg %
0.0 Loz : 0.2 04 06 08
0.0 2.5 5.0 7.5
bin no
VARI
0 200000 - 0
100 150000 - 100
100000 -
200
200
50000 - 0 100 200 300
|
300 0 0.25 0.50 0.75
0.0 0.5 1.0
1.0 13 o 0
400 NT
0.8 —_
| —— 100
0.6 4 1
0.4 - 200
0.2 - 0 100 200 300
: ]
0.0 2 7= Gnavg 7.5
== (n_avg
=== Gn_avg
=== (Gn_avg
Gn_avg
e (On ovg 0
100000 -
100
75000 -
50000 - 200
250004 ~ 0 100 200 300
- _____—
0-L—— 0.25 0.50 0.75
=== Gn_pct
et 005 0.10
1.0 7= 0
0.8 ——
-3 100
0 100 200 300 400 500 600 0.6 T——
0.44 200
B 2 L 0 100 200 300
-0.02 0.00 0.02 0.04 0.06 0.08 0.10 0.12 0.14 %
0.0 L3 0.1 02 03 04

0.0




